

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder: 1785704

Solicitation Description: Addendum 1: Open-End Contract of Printers and Ink for WVDOT

Proc Type: Agency Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2025-09-25 10:30
 SR 0803 ESR09242500000002232
 1

VENDOR

VS0000049318 Yellow Networks LLC

Solicitation Number: ARFQ 0803 DOT2600000020

Total Bid: 46291.5 **Response Date:** 2025-09-24 **Response Time:** 18:23:50

Comments:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-558-0408 amber.j.heath@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Sep 25, 2025 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	HP OfficeJet Pro 9125E All-in-One Printer or	50.00000	EA	249.000000	12450.00
	equal				

Comm Code	Manufacturer	Specification	Model #	
43212100				

Commodity Line Comments:

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	2 Year Warranty or Better	50.00000	EA	59.930000	2996.50

Comm Code	Manufacturer	Specification	Model #	
81111818				

Commodity Line Comments: HP Care Pack Hardware Support - 3 Year - Service x Next Day - Maintenance - Electronic and Physical **Extended Description:**

HP OfficeJet Pro 9125E All-in-One Printer 2 Year Warranty Or better

Line Comm Ln Desc Qty		Unit Issue	Unit Price	Ln Total Or Contract Amount
3 HP 936 Original Ink Cartridge 4-pack or equal 50.00	00000	EA	169.000000	8450.00

Comm Code	Manufacturer	Specification	Model #	
60121718				

Commodity Line Comments:

Extended Description:

HP 936 Cyan/Magenta/Yellow/Black Original Ink Cartridge 4-Pack, Part Number 6C3Z5LN or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal	50.00000	EA	369.000000	18450.00

Comm Code	Manufacturer	Specification	Model #	
43212100				

Commodity Line Comments:

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	2 Year Warranty or Better	50.00000	EA	78.900000	3945.00

Comm Code	Manufacturer	Specification	Model #	
81111818				

Commodity Line Comments: HP Care Pack Hardware Support - 3 Year - Service x Next Day - Maintenance - Electronic and Physical **Extended Description:**

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" 2 - Year Warranty or Better

Date Printed: Sep 25, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05



State of West Virginia Agency Request for Quote Office Equip.

Proc Folder:	1785704		December Medification
		and and a C D in town and I belong to MA (DOT	Reason for Modification:
Doc Description:	Addendum 1: Open-End Co	ntract of Printers and Ink for WVDOT	Addendum 1
Proc Type:	Agency Master Agreement		
Date Issued	Solicitation Closes	Solicitation No	Version
2025-09-22	2025-09-25 10:30	ARFQ 0803 DOT2600000020	2
BID RECEIVING LO	OCATION		
PROCUREMENT D	DIVISION		
DIVISION OF HIGH	HWAYS		
BLDG 6 RM 340A			
1900 KANAWHA BI	LVD E		
CHARLESTON	WV 25305		
US			
VENDOR			
Vendor Customer	Code:		
Vendor Name :			
Address :			
Street :			
City:			
State :		Country:	Zip:
Principal Contact	:		
Vendor Contact P	hone:	Extension:	

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-558-0408

amber.j.heath@wv.gov

Vendor Signature X FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Sep 22, 2025
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION

ADDENDUM 1 IS ISSUED FOR THE FOLLOWING REASONS:

1. TO ATTACH THE VENDOR QUESTIONS AND RESPONSES

2. TO MODIFY THE BID OPENING DATE AND TIME

NO OTHER CHANGES

INVOICE TO		SHIP TO		
DEPT. OF TRANSPOR	TATION	DEPT. OF TRANSPORTATION		
1900 KANAWHA BLVD	E,	1900 KANAWHA BLVD E,		
BLD. 5 RM-720		BLD. 5 RM-720		
CHARLESTON	WV	CHARLESTON WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	HP OfficeJet Pro 9125E All-in-One Printer or equal	50.00000	EA		

Comm Code	Manufacturer	Manufacturer Specification		
43212100				

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer or equal

INVOICE TO		SHIP TO			
DEPT. OF TRANSPORT	ATION	DEPT. OF TRANSPORTATION			
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720	•		
CHARLESTON US	WV	CHARLESTON WV US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	2 Year Warranty or Better	50.00000	EA		

Comm Code	Manufacturer	Specification	Model #	
81111818				

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer 2 Year Warranty Or better

 Date Printed:
 Sep 22, 2025

 Page 2
 FORM ID: WV-PRC-ARFQ-002 2020/05

INVOICE TO		SHIP TO	
DEPT. OF TRANSPOR	RTATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON	WV	CHARLESTON WV	

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	HP 936 Original Ink Cartridge 4-pack or equal	50.00000	EA		

Comm Code	Manufacturer	Specification	Model #	
60121718				

Extended Description:

US

HP 936 Cyan/Magenta/Yellow/Black Original Ink Cartridge 4-Pack, Part Number 6C3Z5LN or equal

INVOICE TO		SHIP TO	
DEPT. OF TRANSPOR	TATION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON US	WV

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal	50.00000	EA		

Comm Code	Manufacturer	Manufacturer Specification		
43212100				

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal

INVOICE TOSHIP TODEPT. OF TRANSPORTATIONDEPT. OF TRANSPORTATION1900 KANAWHA BLVD E,1900 KANAWHA BLVD E,BLD. 5 RM-720BLD. 5 RM-720

CHARLESTON WV CHARLESTON WV

US US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	2 Year Warranty or Better	50.00000	EA		

Comm Code	Manufacturer	Specification	Model #	
81111818				

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" 2 - Year Warranty or Better

SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	Technical Questions Due at 10:00am ET	2025-09-17

 Date Printed:
 Sep 22, 2025
 Page 4
 FORM ID: WV-PRC-ARFQ-002 2020/05

SOLICITATION NUMBER: Addendum Number:

Applicable Addendum Category:

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

[]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[]	Other
Description	on o	f Modification to Solicitation:

Terms and Conditions:

1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ATTACHMENT A

ARFQ DOT2600000020

Open-End Contract of Printers and Ink for WVDOT

Question 1 – I see on this bid you request pricing for a 2 year warranty on each device but only ink on the HP 9125e. Are you wanting pricing on ink (4 pack) for the HP 9730e as well?

<u>Answer 1</u> – When conducting our research online, Part Number 6C3Z5LN, HP936 Cyan/Magenta/Yellow/Black Ink is compatible with 9730e.

Question 2 – Can you confirm whether the quantity of printers shown on the bid will be purchased as needed over the duration of the contract. Or will this quantity be purchased all at once?

<u>Answer 2</u> – Please note, this solicitation is for an open ended contract and the quantity listed on the pricing page is estimated. We will be purchasing them over the duration of the contract.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.:

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received: (Check the box next to each addendum received)	ved)
[] Addendum No. 1 [] Addendum No. 2 [] Addendum No. 3 [] Addendum No. 4 [] Addendum No. 5 I understand that failure to confirm the receip	[] Addendum No. 6 [] Addendum No. 7 [] Addendum No. 8 [] Addendum No. 9 [] Addendum No. 10 ot of addenda may be cause for rejection of this bid
discussion held between Vendor's representa	ation made or assumed to be made during any oral atives and any state personnel is not binding. Only to the specifications by an official addendum is
Company Joe Marsh	
Authorized Signature	
Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



State of West Virginia Agency Request for Quote Office Equip.

Proc Folder: 1785704

Doc Description: Addendum 1: Open-End Contract of Printers and Ink for WVDOT

Reason for Modification:

To correct addendum 01

attachment

Proc Type: Agency Master Agreement

 Date Issued
 Solicitation Closes
 Solicitation No
 Version

 2025-09-23
 2025-09-25
 10:30
 ARFQ 0803 DOT2600000020
 3

BID RECEIVING LOCATION

PROCUREMENT DIVISION

DIVISION OF HIGHWAYS

BLDG 6 RM 340A

1900 KANAWHA BLVD E

CHARLESTON WV 25305

US

VENDOR

Vendor Customer Code: VS0000049318

Vendor Name: Yellow Networks LLC

Address:

Street: 3315 AURORA AVE UNIT 203

City: Ames

State: Iowa Country: USA Zip: 50014

Principal Contact: Joe Marsh

Vendor Contact Phone: 712-560-3633 Extension:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-558-0408

amber.j.heath@wv.gov

Vendor Joe Marsh Signature X

FEIN# 84-2940447

DATE 09/24/2025

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Sep 23, 2025
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION

ADDENDUM 1 IS ISSUED FOR THE FOLLOWING REASONS:

1. TO ATTACH THE VENDOR QUESTIONS AND RESPONSES

2. TO MODIFY THE BID OPENING DATE AND TIME

NO OTHER CHANGES

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E,		1900 KANAWHA BLVD E,	
BLD. 5 RM-720		BLD. 5 RM-720	
CHARLESTON	WV	CHARLESTON WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	HP OfficeJet Pro 9125E All-in-One Printer or equal	50.00000	EA	\$249.00	\$12,450.00

Comm Code	Manufacturer	facturer Specification Model #	
43212100	HP	As requested	403X0A#B1H

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer or equal

INVOICE TO		SHIP TO	
DEPT. OF TRANSPORTA	TION	DEPT. OF TRANSPORTATION	
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720	
CHARLESTON US	WV	CHARLESTON WV US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	2 Year Warranty or Better	50.00000	EA	\$59.93	\$2,996.50

Comm Code	Manufacturer	Specification	Model #
81111818	HP	HP Care Pack Hardware Support - 3 Year	UQ209E

Extended Description:

HP OfficeJet Pro 9125E All-in-One Printer 2 Year Warranty Or better

 Date Printed:
 Sep 23, 2025

 Page 2
 FORM ID: WV-PRC-ARFQ-002 2020/05

INVOICE TO		SHIP TO		
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION		
1900 KANAWHA BLVI BLD. 5 RM-720	DE,	1900 KANAWHA BLVD E, BLD. 5 RM-720		
CHARLESTON	WV	CHARLESTON WV		

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	HP 936 Original Ink Cartridge 4-pack or equal	50.00000	EA	\$169.00	\$8,450.00

Comm Code	Manufacturer	Specification	Model #	
60121718	HP	As requested	6C3Z5LN	

Extended Description:

US

HP 936 Cyan/Magenta/Yellow/Black Original Ink Cartridge 4-Pack, Part Number 6C3Z5LN or equal

INVOICE TO		SHIP TO		
DEPT. OF TRANSPORTATION		DEPT. OF TRANSPORTATION		
1900 KANAWHA BLVD E, BLD. 5 RM-720		1900 KANAWHA BLVD E, BLD. 5 RM-720		
CHARLESTON US	WV	CHARLESTON WV US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal	50.00000	EA	\$369.00	\$18,450.00

Comm Code	Manufacturer	Specification	Model #
43212100	HP	As requested	537P6A#B1H

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" or equal

INVOICE TOSHIP TODEPT. OF TRANSPORTATIONDEPT. OF TRANSPORTATION1900 KANAWHA BLVD E,1900 KANAWHA BLVD E,BLD. 5 RM-720BLD. 5 RM-720

CHARLESTON WV CHARLESTON WV US US

LineComm Ln DescQtyUnit IssueUnit PriceTotal Price52 Year Warranty or Better50.00000EA\$78.90\$3,945.00

Comm Code	Manufacturer	Specification	Model #
81111818	HP	HP Care Pack Hardware Support - 3 Year	UQ212E

Extended Description:

HP OfficeJet Pro 9730e Wide Format Printer 11"x17" 2 - Year Warranty or Better

SCHEDULE OF EVENTS

<u>Line</u> <u>Event</u>	Event Date
1 Technical Questions Due at 10:00am ET	2025-09-17

 Date Printed:
 Sep 23, 2025
 Page 4
 FORM ID: WV-PRC-ARFQ-002 2020/05

	Document Phase	Document Description	Page 5
DOT2600000020	l e	Addendum 1: Open-End Contract of Printers and Ink for WVDOT	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions



PRICE QUOTE

3315 AURORA AVE UNIT 203 AMES, IA 50014-8522 (515)442-4031

9/24/2025 QUOTE Number YN7249

Yellow Networks LLC		SHIP TO	
ZAZNXK8YTSY4			
84-2940447			
9BWU3		Free ground shipping within US	
712-560-3633	Free ground shipping within US		
gsa@yellowllc.net			
Open Market			
https://yellowlic.net/			
	ZAZNXK8YTSY4 84-2940447 9BWU3 712-560-3633 gsa@yellowlic.net Open Market	ZAZNXK8YTSY4 84-2940447 9BWU3 712-560-3633 Free ground shipping within US gsa@yellowlic.net Open Market	

ITEM	DESCRIPTION	QTY	UNIT PRICE		TOTAL
403X0A#B1H	HP Officejet Pro 9125e Wired & Wireless Inkjet Multifunction Printer	50	\$249.00	\$	12,450.00
UQ209E	HP Care Pack Hardware Support - 3 Year - Service x Next Day - Maintenance - Electronic and Physical	50	\$59.93	\$	2,996.50
6C3Z5LN	HP 936 Black, Cyan, Magenta, Yellow Ink Cartridges Printers (4-Pack)	50	\$169.00	\$	8,450.00
537P6A#B1H	HP Officejet Pro 9730e Wired & Wireless Inkjet Multifunction Printer - Color	50	\$369.00	\$	18,450.00
UQ212E	HP Care Pack Hardware Support - 3 Year - Service x Next Day - Maintenance - Electronic and Physical	50	\$78.90	\$	3,945.00
				\$	-
				\$	-
				\$	-
				\$	-
				\$	-
				\$	-
				\$	-
				\$	-
				\$	-
			SUBTOTAL	\$	46,291.50
O	10/05/0005		ΤΟΤΔΙ ΤΔΧ	Ś	_

Quote Expiration Date:10/26/2025Payment Terms:Net-30Shipping Method:FedEx/USPS